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MATHEMATICS — GENERAL
: Paper : GE/CC-3
Full Marks : 65
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2x+3y-5z=5

4x+2y+4z=6
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(iv) None of these.
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(0 Forafunctiony = f(x)ify; = f(x,),i=0,1,2,...,12, then the degree of its interpolation polynomial is
M 10 (i) 11
(i) 12 (iv) None of these.
() If the vectors (1,2, 4), (2,2, 8), (1, k, 4) are lincarly dependent, then the value of k is
@ 0 (i) 1
(i) 2 (iv) -1

(h) The maximum number of basic solutions to an LPP with m constraints and » variables,
where m<n, is

@) n! (i) "P,,
(i) "C,, (iv) m!.
(i) Which of the following is a Basic Feasible Solution of the system?
le ets x2 = x3 =3

xl+2x2+3.X'3=5

17
@ (1,2,0 ii (—,*,0)
( ) (ii) 35
14 1
(i) (0’?’_§) (iv) None of these.
(j) The optimal value of an Artificial Variable is
(i) positive (i) negative
(iif) zero (iv) None of these.
Unit-1

(Integral Calculus)

2. Answer any three questions :

%
s n—1
(@ If 1,,,= fsin’" xcos” x dx; m,n are positive integers greater than 1, show that £, ,, = = ),
n
0

T
(b) Prove that 7_[4 28 Xfwfsi"xdx=ﬂ. 5
Os/sinx 5 -
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1+2-]...(1+£)}" =i_ 5
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~ Unit-2
(Numerical Methods)
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Unit-3

(Linear Programming)
4. Answer any four questions :
(a) Define Hyperplane. Show that a hyperplane in £ is a convex set. 1+4
(b) Solve the following LPP by graphical method : 5
Minimize ~ Z=20x, + 40x,
subject to 36x, + 6x, > 108,
3x) + 12x, 2 36;
20x, + 10x, > 100; X, Xy 20.
(¢) Solve the following LPP by Simplex method : 5
Maximize  Z = 60x, + 50x,
subject to, x; +2x, < 40;
3x; + 2x, < 60; Xy, %y 20.

(d) Find all the basic solutions of the given set of equations :

2x+3y—-5z=5
4x+2y+4z=6
Write down the basic and non-basic variables in each case. 4+1
(e) Find the dual of the following LPP : 5

Maximize Z=2x; +4x,+x3+x,
subjectto, x;+3x,+x, 24
2x; +x, <3
X, +dx; +x,=1; X|s X9, X3, X4 20.

(f) Solve the following transportation problem :

wh

D D, Dy Dy g
Oieliogeas 3 3
CORPIRG 8 - 3 | 5
Eamiis s 3 | 7
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